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A & 0l & AF 2 E A A
20198 &= =0l &t LB/ A ehMTH Lt
D OFM TH It
M THoOH & e o
1 HoHAIMOHH & &7 (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& TH 31,035,471 19,377,829 11,657,642
= 4,956,067
s 7,559,000
= 3,916,627
s 14,603,777
ol & XH& ol & 29,598,242 18,628, 380 10,969, 862
= 4,720,547
s 7,559,000
< 3,910,563
s 13,408,132
THoH AFE CHEl & & &KX 3,879,935 548,532 3,331,403
= 1,657,047
< 841,763
[ia 1,381,125
XH ol A& CH BI 312,912 150,570 162,342
201 Let24d] 257,092 99,250 157,842
01 AtS 22l H| 154,600 5,600 149,000
OXATHL EEASH=E M
25,000 405 1,000
OXNSMHUE E28 MA(ZAH, 2IEA 5)
5,000,000& 14! 5,000
OMLCHHl 2= EESE
12,000 A CH *23] 500 12,000
OMLCHEl E2= ME BHE
6,700,000% *2.5+8F 134,000
OXNtlzI2Fa 2,000,000& =14 2,000
ON-tSeaes a32F HEH
150, 000& *4 3| 600
02 =224l 102,492 93,650 8,842
ON-HSeaes does 15,0002 128 180
OUEEANE HotR=S 150,000& =128 1,800
OUIEANE HIRS 500,000& »12& 6,000
OUEEANE StR=s 300,000& =122 3,600
OMtEEa e Azl 170,000& * 153 2,550
ONdioadE L FREALE =X 22|
760,000 *500H 2~ 38,000
OXaoiol el ZHolH =2
500,000& 7= 3,500
OMoi2A&dZer S 2= 10,000,000 14! 10,000
OMESE et AlIAE RIE
2,000,000& =14 2,000
OXZIEE HEIl RXNE= 810,000& 122 9,720
OZHel 24828 MIIQZ  400,0008 122 4,800
Ost=2Tega EE3/& AslHl  1,000,000& 1,000
OM:HE CCTV 83 =
90,000& 1000 & 128 10,800
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M THOH &L THGEH Ol &
CH2l: THOHAISEOHHl & A E KX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o dE = HRE2
0Ofl &F 08
OMHE CCTV SAEx2 106,763,000 «8% 8,542
202 04d| 5,120 3,920 1,200
01 2L HI 5,120 3,920 1,200
O™ IAE L 3o FA 2,000,000& 2,000
OTHOHHZ AR =X (ZH)
130, 000& 2 x12& 3,120
203 & 2 =&XH| 3,000 3,000 0
03 AIZH =& 2 =X H| 3,000 3,000 0
O LHSE L =&l 3,000,000 3,000
206 M = Hl 4,200 5,200 A 1,000
01 X2 H| 4,200 5,200 A 1,000
Ot S & 28T 22
4,200,000 = 1Al 4,200
301 LBt A= 5,500 2,200 3,300
09 HAIAHI EAZ 5,500 2,200 3,300
OMLto e oI2to & et 3o & oz &2
20,000 20 x103l 4,000
Ootd AN s & 319 &AM
30,0008 x5H «103] 1,500
307 2iz2to| & 38,000 37,000 1,000
02 QIZFA AAIE E X 13,000 15,000 A 2,000
OXs2 e 43 AtY 13,000
— g ME W= 502 %25, 000& 43| 5,000
— A8 X7 HEE=H| 502 x20, 000 43| 4,000
—ESSXM, ot ESFLHl 4,000,000 *14] 4,000
06 22 25,000 22,000 3,000
OZoIotNEEH 25,000,000 13l 25,000
ML aE R X 36,552 32,500 4,052
201 LBt | 32,952 28,900 4,052
01 AP 22| H| 32,952 28,900 4,052
Ot EEatatal Ad=AH| 28,920
— X Gt 60,000 * 117 7,020
— =& 60,000& *365 21,900
OMBH M 220 HE OHA Y|
8,000 x4 *x21H x5 & 4,032
202 04d| 3,600 3,600 0
01 2Ll 3,600 3,600 0
Otz & ZIIHASE (EH)
300,000 x 1 x12& 3,600
ogAiAgly X 24,450 19,450 5,000
301 et A= 24,450 19,450 5,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 2 EALHAAEH 24,450 19,450 5,000
OAsAdl #4353 MY 24,450
—x Jl=Zdlal & JISE0tE A
11,000,000& =13l 11,000
- Jil=3ddis 2,450,000& x13] 2,450
—gd35g WFHA 3,500,000& x13] 3,500
— QAR LXK HE
7,500,000& x13] 7,500
=0 SHEAE AXIAS 124,211 74,682 49,529
= 4,152
< 1,245
e 118,814
101 124 dl 108,147 65,272 42,875
4 D12t Z2XRHEES 108,147 65,272 42,875
OWEZE ==0| 2RI 108,147
—Jlas 63,0703 x22H 27 37,464
—5d=4 94,6003 x22H x18 37,462
— =5 63,070 x22H 9 12,488
— 3= 63,0703 x22H 2 2,776
— Sl 2,000 22 45 1,980
— =4 4,000 x22H x45 3,960
—4HEE= 96,130,000& *12.5% 12,017
201 £B-2dH| 13,664 6,470 7,194
= 4,152
< 1,245
s 8,267
01 At 22l 13,664 6,470 7,194
Ossoletd=& 22812 2,000,000 » 14! 2,000
O2=0l BlaZ22A S8 8,000& 454 2 720
O2s0| ¢t JHrEd 2L
120,000& »22H 2,640
O2s0l etEAIE &X 830,400 * 1004 & 8,304
= 4,152
= 1,245
e 2,907
202 oddl 2,400 2,940 A 540
01 = LH o4 1l 2,400 2,940 A 540
O28s0 M2 HRFA
20,0003 x2H x5 128 2,400
M 2ot 2= 11,900 7,720 4,180
201 LBr2d| 9,800 7,720 2,080
01 AR 228l 9,800 7,720 2,080
Ootd ztel A &l A HSOH =L M=
35,000& 605 2,100
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Oodzoleas € oddolNed 3542
70,000& x10E «53| 3,500
Ot zat2s 822 MA 150,000& *203| 3,000
OBNX M2 119AHME B 218
1,200,000& *13] 1,200
301 et a s 2,100 0 2,100
12 JIEtE 43 2,100 0 2,100
OUFBLIHE 2+=58 A& 2,100
—E222(1H4A) 1,000,000& » 104 2 1,000
—2=(1HA) 500,000 =10 2 500
— & (20 A) 300,000 *20H 2 600
MAES etEstIE=e 12,040 5,790 6,250
= 2,895
< 1,158
s 7,987
201 LB-2d| 10,440 5,790 4,650
= 2,895
< 1,158
s 6,387
01 At 2t 2l 10,440 5,790 4,650
O=3&H Xz 500,000 *4CH 2,000
Og=9 M= 70,000& =154 1,050
ogargr 2¢ 50,000 * 104 500
OomsRSY &N SAM2
8,0002 *502 +23] 800
OotEB RS AKX AR
3,000& x50H »23] 300
O¢tdet==d& 5,790,000& x13l 5,790
= 2,895
< 1,158
s 1,737
301 gt d= 1,600 0 1,600
09 SALAHIEA S 1,600 0 1,600
OMHOS QRBREY AT U2
,000& 200 1,600
Mol FIE XS (2X)-THoH AFE THEI 3,300,000 200,000 3,100,000
= 1,650,000
< 825,000
s 825,000
401 AIEHI L 20 3,300,000 200,000 3,100,000
= 1,650,000
< 825,000
[ia 825,000
01 A& HI 3,288,120 198,560 3,089,560
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ORHXF SZAXNS ASEXNE HHISA
2,200,000,000& *99.64/100 2,192,080
= 1,100,000
< 550,000
i 542,080
OUE3XF =ZAXNS ASEXNE U SA
1,100,000,000& *99.64/100 1,096,040
= 550,000
< 275,000
i 271,040
03 A& S THHI 11,880 1,440 10,440
OR3AT SZAXNSY ASXSG FHISA
2,200,000,000& *0.36/100 7,920
OUE3XT SZAXNSL ASXSG FHISA
1,100,000, 000& «0.36/100 3,960
fOHRAEH I HE NSAL 7,870 7,320 550
< 2,360
i 5,510
201 ¢et24] 7,870 7,320 550
< 2,360
s 5,510
01 At 22l 7,870 7,320 550
ORC<EH 4 aX&
39,350 20004 2~ 7,870
< 2,360
i 5,510
Mt A2 X & 20,000 50,500 230,500
201 ¢er24| 20,000 50,500 230,500
01 At 22l 20,000 50,500 /30,500
OMtHAIIR I ZAAE XA
20,000& x2& *x5000t 20,000
ANEgE S8 Dds MUl 82+ 30,000 0 30,000
< 12,000
[ia 18,000
201 Let249] 30,000 0 30,000
< 12,000
[ia 18,000
03 &AL S HI 30,000 0 30,000
ONASH L= MUY &
30,000,000& =12l 30,000
< 12,000
s 18,000
HolAE 24 MEHMA & 24 &t 1,024,000 974,000 50,000
= 12,000
s 1,012,000
ot& JIE M EH 200,000 250,000 250,000
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1T AIEHIZ 20| 200,000 A 50,000
01 Al&H| 198,560 A51,440
OotdE I A M A 200,000,000¥ x99.28/100 198,560
03 A& £ 0HH] 1,440 1,440
OstE I M & H| 200,000,000€ =x0.72/100 1,440
otAM=AE ALY 800,000 100,000
401 Al HI L 2 0HHI 800,000 100,000
1 A& H| 797,120 97,120
Ostd =& ALY 800,000,000€ *99.64/100 797,120
03 AlE 201 Y| 2,880 2,880
OdlE =LA 800,000,000€ x0.36/100 2,880
ZE401 EEAY 24,000 0
=} 12,000
= 12,000
301 et A= 24,000 0
= 12,000
= 12,000
12 JIEtE2 A= 24,000 0]
OEZELNEEAEINLEEXTZ 24,0008 %1,000H 24,000
= 12,000
= 12,000
M AH & ol 5t & A H| ,072,528 4,606,480
= 30,000
g ,018,000
= ,843,000
= ,181,528
ANESIEANYE 2XE B2 a2 20,000 0
401 AlEHIZL 201 Y| 20,000 0
01 Al&H| 20,000 0
OXYotEEHAIY D=2 XNEH
20,000,000& = 14! 20,000
St MY S ,061,120 493,120
o= 59,000
= ,002,120
202 044 3,120 3,120
01 2L I 3,120 3,120
Qotd LR (= 130,000& x2H «12& 3,120
401 AlEHIZL 2 0HY| ,058,000 490,000
& 59,000
= ,999,000
01 Al&H| ,058,000 490,000
OXotA SHINH 200,000,000 1Al 200,000
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OStEAE SFXE* 60,000,000 =14 60,000
ONZH B HEAY
6,000,000& *5J4 & 30,000
OFXdE HAFXF MEHH A
50,000,000 =14 50,000
Ol HXE HHA 16,000, 000& 14 16,000
OS&g(at=X )M EH AL
54,000,000& =14 54,000
Ontg(2d s&X7) ot ™AL
30,000,000& =14 30,000
OdctdM e |FXE2=+= 118,000, 000& * 14! 118,000
< 59,000
[ia 59,000
O3 FUlAY 1,500,000, 000& 14 1,500,000
A2 5tE 8,920,000 4,800,000 4,120,000
s 5,018,000
< 1,784,000
s 2,118,000
401 AIEHIZ 28I 8,920,000 4,800,000 4,120,000
s 5,018,000
< 1,784,000
[ia 2,118,000
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5,580,000,000& x0.9975 5,566,050
s 3,348,000
< 1,116,000
s 1,102,050
Q2 (22X )5S MHoh ol & AL
2,540,000,000& =0.9964 2,530,856
s 1,270,000
< 508,000
s 752,856
O=EH (==X )t THH 0l 2 At
800,000,000& *0.9937 794,960
s 400,000
< 160,000
s 234,960
03 AlE 2 THHI 28,134 15,840 12,294
OFA& (=KX 7)ot & THaH ol 2 AL
5,580,000,000& *0.0025 13,950
AZH (S X )5HE THOH Ol 2 AL S
2,540,000,000& *0.0036 9,144
O=EH (==X +)octETHaH 0l 2 At
800,000,000& *0.0063 5,040
= ItotE F A2+ 30,000 60,000 230,000
= 30,000
401 AIEHI L 2CHEI 30,000 60,000 30,000
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01 Al&H| 30,000 60,000 A 30,000
O2JIot&(SL)8XNE % 30,000,000& = 14! 30,000
= 30,000
ot & 22l 41,408 11,808 29,600
201 et 41,408 11,808 29,600
01 AP 2t 2] H| 32,960 0 32,960
OZMIMEZXZANEA =28
320,000 *7= x 13| 40 A 8,960
Odtd4E==2MH &Hl Xz 800,000& x303] 24,000
02 E2=2=24%H| 8,448 11,808 A 3,360
ORIt DHXYH MIRS
170,000 10 A x12& 2,040
OXOHE HAXHAILE MIR2
170,000 2 A~ x12& 4,080
OfIotA - A2lA - 22d JIsE &2
23,0002 *4) A x12& 1,104
o882 - 22 =22 & JIsE JIIe2
13,0002 x61 &~ ~12& 936
O2dA JIsE HIIL2 8,000 «3MAx12& 288
StRA THoll /& X+ Al 6,318,000 4,528,000 1,790,000
= 3,033,500
& 1,213,800
= 2,070,700
MoHAS N A AEH (BEX)-MHoHAE X R A Y| 6,068,000 4,528,000 1,540,000
= 3,033,500
& 1,213,800
= 1,820,700
401 AlEHIZL 2 0HY| 6,068,000 4,528,000 1,540,000
= 3,033,500
& 1,213,800
= 1,820,700
01 Al&H| 6,046,156 4,513,075 1,533,081
O&dJtet IHATHMNAEINSE X7 HHEIZ A+
4,705,000,000€ x99.64/100 4,688,062
= 2,352,500
& 941,000
o 1,394,562
OAENE XAMMNHAENSE X7 HHEIZAH
1,363,000, 000 «99.64/100 1,358,094
= 681,000
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4,705,000,000& x0.36/100 16,938
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OAHE NAEMHAZ ML X2 FHI S A
1,363,000,000& *0.3599/100 4,906
Mol 21 & Xl = & Hl 250,000 0 250,000
401 Al HI K 201 250,000 0 250,000
01 A& tI 250,000 0 250,000
O30S ASAH HHIALY
245,338& %1,019m’ 250,000
NHARSE AGHAE FH| 7,303,779 6,111,800 1,191,979
s 2,541,000
i 4,762,779
ACHEAEH (ME)-AHEEHIALY 5,082,000 4,196,000 886,000
s 2,541,000
s 2,541,000
401 AIEHI L 2 CHYI 5,082,000 4,196,000 886,000
s 2,541,000
[ia 2,541,000
01 A& HI 5,059,046 4,172,420 886,626
OZFF=A0tE FHISA
300,000,000% *99.28/100 297,840
s 150,000
[ia 147,840
OQIALAGHE HHIS A
1,596,000,000& *99.64/100 1,590,255
s 798,000
[ia 792,255
O=zl=A0td U SA
830,000, 000& *99.37/100 824,771
s 415,000
[ia 409,771
OEXIA0HE HHISA
1,984,000,000& *99.64/100 1,976,858
s 992,000
s 984,858
O&NE=adtE FHISA
372,000,000% *99.28/100 369,322
s 186,000
[ia 183,322
03 Al 2 THHI 22,954 23,580 A 626
OFF=A0td FHISA
300,000,000& *0.72/100 2,160
OQIALAGHE HHI S A
1,596,000, 000& *0.3599/100 5,745
Ozl2A0td FHISA
830,000, 000& *0.63/100 5,229
OEXIA0HE HHISA
1,984,000, 000& *0.35997/100 7,142
O&ANZSA0HE FEISAM
372,000,000% *0.7198/100 2,678
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AGHE FRI=RALY 1,221,779 1,410,800 A 189,021
401 Al HI K 201 I 1,221,779 1,410,800 A 189,021
01 A& Bl 1,208,819 1,400,000 A 191,181
OJAXAcHE HBISA
30,000,000% *98.92/100 29,676
OFY=A0HE HEISAM
30,000,000% *98.92/100 29,676
O At ZATHE HBISA
39,000,000% *98.92/100 38,579
eJlActd HEHIS A
40,000,000 %98.92/100 39,568
OMRAGHE FHIBA
22,000,000 *98.92/100 21,763
Obt=A0td FHISA
40,000,000 *98.92/100 39,568
O=A0tE ZHISA
22,000,000 *98.92/100 21,763
OAZATHE FHISA
22,000,000 *98.92/100 21,763
O ATHE HHISA
15,000,000% *98.92/100 14,838
OUslEadtd ZHISA
15,000,000% *98.92/100 14,838
OXIAt22otE HHIZ A
30,000,000% *98.92/100 29,676
AELGHE FHISA
22,000,000 *98.92/100 21,763
OLAdtE HHISA
22,000,000 *98.92/100 21,763
ODitESAcHE FHISA
36,000,000% *98.92/100 35,612
OWUWRA0HE HHISA
15,000,000% *98.92/100 14,838
OWMIHAcHE FEISA
30,000,000% *98.92/100 29,676
OXIAHAoHE HHIZ A
30,000,000% *98.92/100 29,676
OF3A0td HHISA
22,000,000 *98.92/100 21,763
O2uAdtd U SA
22,000,000 *98.92/100 21,763
ORFEA0tE HHISA
22,000,000 *98.92/100 21,763
OJdt==adtd ZHISA
22,000,000 *98.92/100 21,763

O&gJladtd EHHISA

22,000,000 *98.92/100 21,763
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O=2E AdlE HHIZ2AH

25,000,000 «98.92/100 24,730
Ode2Actd HHlZ2AH

22,000,000& «98.92/100 21,763
OJAABIAE MY 2 A

25,000,000 «98.92/100 24,730
OodtE=Actd HHlZ2 A

25,000,000 «98.92/100 24,730
Od1AstE HHlZAH

25,000,000 «98.92/100 24,730
OBE=A0HE HHISAH

22,000,000 «98.92/100 21,763
OMYABHE HHISAH

35,000, 000& *98.92/100 34,622
Ox==240t8 &

22,000,000 «98.92/100 21,763
O=L08ld HHIZAH

25,000,000 «98.92/100 24,730
Ogr2A5tA HHISAH

22,000,000 «98.92/100 21,763
ONMHSAGIE HHlZ2AH

22,000,000 *98.92/100 21,763
OY2406td HHISAH

30,000, 000€ *98.92/100 29,676
O0l=A58td HHISAH

22,000,000& «98.92/100 21,763
ODl=A5td HHISAH

22,000,000 «98.92/100 21,763
OAMNEASHE HHISAH

30,000, 000& *98.92/100 29,676
O2H=2A06tAd HHlZ2AH

22,000,000 «98.92/100 21,763
OZNHASHE HHIZ2AH

22,000,000 «98.92/100 21,763
OstsAotd HHI S A

22,000,000 «98.92/100 21,763
OAGtYHAGHE AUl Z2A

30,000, 000€ *98.92/100 29,676
ONUHAGIAE HH|Z2A

22,000,000 «98.92/100 21,763
OotYHAGHA HH|Z2 A

25,000,000 «98.92/100 24,730
ORI ABHE HHIZ2AH

22,000,000 «98.92/100 21,763
OzclLoldE HHIZ2AH

22,000,000 «98.92/100 21,763
ot 2As6td HUlZ2AH

25,000,000 «98.92/100 24,730
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OASA0HE FHIZSA
22,000,000& %98.92/100 21,763
OZTXI25tE FEISA
22,000,000& %98.92/100 21,763
OstLHE FHISAL 22,000,000 «98.92/100 21,763
03 A& =TI 12,960 10,800 2,160
OATIEFVU=SIAALY A2
1,200,000, 000% *1.08/100 12,960
AotE FHl ALY 1,000,000 505,000 495,000
401 A& HIZ 201 8] 1,000,000 505,000 495,000
01 A& HI 1,000,000 505,000 495,000
OOtXI20tE THoH A8 w & Z ALY
420,000,000 *1J4 & 420,000
OActE AHMAIHAZSHX ALE 500m*100,000& 50,000
OA%td HMEKAE =AY
10,000, 000& «5H 2~ 50,000
OL5HA At X0 7,500m" x4, 000& 30,000
OA%td =LA 10,000,000 *450H A 450,000
olgrel 29 160,671 137,769 22,902
= 5,520
< 6,064
[ia 149,087
grgrel ws 2@ Aldzte 40,603 36,829 3,774
= 5,520
< 6,064
s 29,019
=2F0 USRS & S| 1,900 1,900 0
= 570
< 399
[ia 931
201 L2l 1,900 1,900 0
= 570
< 399
e 931
01 At 22l 1,900 1,900 0
ORI & =& 3dH 1,900, 000& *13] 1,900
= 570
< 399
s 931
Qrere W= 2,000 1,800 200
201 Let249] 2,000 1,800 200
01 At 22l 2,000 1,800 200
Oooee ws WM M= 12,000& 100 1,200
ofgfluns 28 ¢ 200,000& *43] 800
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